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I 27 mwn:asnpp
a  If: he saw people chasing a n&xn (through his field), e.g. alame deer or birds that don’t yet fly
i And:he declared that he wants his field to generate acquisition for him — valid
b However, if: he saw people chasing a deer running as usual or birds that fly — this declaration isn’t valid
i Limitation (580¥): only works if the owner is standing near his field
1 Challenge: why can’t his field generate the yap without his presence
(a) Support: RN 920 "1 — %N generates 11p without awareness of the owner
2 Answer: this is only true in a nINYNN I3M; in our MWYY, it is a NINNWYN NPRY 98N — must be present
(a) Source: v.1implies that if the farmer was away from his field and then remember and 2ny
(i) Even if: he forgot the sheaf and then remembered it, it is still considered nnavw
(if) As opposed to: on the field, it is only nnaw if he was never aware of it
1. Reason: if he is standing there, his q9¥n is nnp; but if he is away, his 9¥n (nnnwVH NPRY) isn't nnp
2. Challenge: perhaps that’s just Divine fiat
3. Answer: mnph 1wN RY expressly includes nnw in the city (so it’s not excluded as 21510 nam)
a.  Challenge: that's needed to express the W%
b.  Answer: 5 could’ve been stated without 27vn &%
i.  Challenge: still needed to define parameters of nnow — only if it involves retracing steps
4. Answer (#wN 37): i establishes nnow even in the city
3 Support: Ry and n"117 agree that nannwn N»RW 98N is only nnp if the owner is standing there
(a) Challenge (xan "1to X51p): story of 39, 01 1 and »™ on the boat, he rented them space and gave them
nwyn that were there - to "1 as NWRY MWYn and to ™ for the poor (»"yn)
(i) Note: neither > nor y™ were standing alongside 3™’s granary
(b) Response (to challenger, after leaving without an answer): 3™ gave them the goods via 23R 11p
(i) Reaction: Rar 1 didn’t accept the answer
1. Explanation (827): he was right — they could’ve used a 91 for pa’on
a.  But: they didn’t, since nRin N1 (that right the owner has to choose to which 113, which »%
and which »y to give mawyn) isn’t sufficient j3n for paron
b.  Similarly: DR N2 is insufficient for 23R P1p
c.  Rejection: paron look like transaction, but 2"inn require a gift (NN —v. 2); 23R is a proper nrm
(c) Rather (97):in this case, we have a nipn nyT who is gifting it — no need to be standing near the 7¥n
(i) Proof: our mwn, interpreted by 13N "1 as a case where he could catch up with the deer or birds
1. And: o0 7 asked if the same applies to a gift, and answered in the negative, since there’s nipn ny7
(if) Challenge: in the case of v), where there is nipn nyT (husband) and she must, nonetheless, be standing
near her 7x¥n
1. Defense: in that case, it works without her consent
a.  Challenge: 1v"p that the nipn ny7 should be sufficient and she shouldn’t need to stand there
(d) Rather (»wx 37): 9¥n is an extension of T but no worse than mnYw
(i) Therefore: in the case of V3, (21n) -we need her consent (presence); in case of NN (M31) — no need
¢ Revisiting nn7 1’s question about ninn and his answer — no need to be able to catch up with it
i QAa7 if he threw a money pouch through one door and out the other, is the house nnp (130 1)
1 .. isit considered to have come to rest?
(a) Suggested answer: from n'n7 '7’s response about the gift — no need to catch up with it
(b) Rejection (R21): in that case, it is rolling::at rest; unlike this case, where it is in the air all the time
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